> ACCOUNTING OFFICE POST OFFICE BOX 1437 WAILUKU HAWAII 96793

Advertiser: SCHATZ FOR SENATE

INVOICE

SCH100 To: SCREEN STRATEGIES MEDIA Date 10/19/22 11150 FAIRFAX BLVD Invoice # 66227

CITTUD ENE

	SUITE 505	Page 1	
DATE	FAIRFAX, VA 22030 Account/Run Detail	Len No Rate	Amount
	Contract 27580 / /EST 8337 KNUQ		
10/12/22	KNUQ FM 6:35 9:20 11:55 14:20 15:3	60 5 31.00	155.00
10/12/22	KNUQ FM 18:35	60 1 31.00	31.00
10/13/22	KNUQ FM 7:55 9:20 10:20 13:55 15:39	60 5 31.00	155.00
10/13/22	KNUQ FM 17:54	60 1 31.00	31.00
10/14/22	KNUQ FM 7:55 8:20 11:20 14:55 16:35	60 5 31.00	155.00
10/14/22	KNUQ FM 18:55	60 1 31.00	31.00
10/15/22	KNUQ FM 8:55 12:54 15:54	60 3 31.00	93.00
	KNUQ FM 7:20 13:35 16:35	60 3 31.00	93.00
	KNUQ FM 6:55 9:55 11:55 14:55 17:54	60 5 31.00	155.00
	KNUQ FM 18:55	60 1 31.00	31.00
10/18/22	KNUQ FM 6:20 10:20 15:35	60 3 31.00	93.00
	BSR2205H INVESTMENT		
10/18/22	KNUQ FM 8:55 12:20 17:35	60 3 31.00	93.00
	Total Sales 1,116.00	36	
	Discount on Sales		167.40-
	Sales Tax @ 4.1666%		39.52

PAYMENT DUE WITHIN 10 DAYS OF DATE ABOVE FOR INFO CALL YOUR SALESREP AT 808-244-9145 Sales Rep: POLITICAL

>>> Please Pay This Amount >>>

988.12

> ACCOUNTING OFFICE POST OFFICE BOX 1437 WAILUKU HAWAII 96793

Advertiser: SCHATZ FOR SENATE

INVOICE

60 2 31.00 62.00

SCH100 To: SCREEN STRATEGIES MEDIA

Date 10/15/22 11150 FAIRFAX BLVD Invoice # 66222 Page 1

SUITE 505

10/11/22 KNUQ FM 15:35 17:35

FAIRFAX, VA 22030						rage 1				
DATE			ınt/Run	Detail		Len 1	10	Rate	Amount	
	Contract 2756	8 / /	EST 82	14 KNU	Q FM					
		VESTMEN	T							
10/06/22	KNUQ FM 6:20	9:20	9:55	11:55	14:20	60	5	31 00	155.00	
10/06/22	KNUQ FM 15:54	17:54	18:20			60	3	31.00	93.00	
10/07/22	KNUQ FM 6:35	7:35	8:03	10:20	13:35	60	5	31.00	155.00	
10/07/22	KNUQ FM 15:35	16:35	18:35			60	3	31.00	93.00	
10/08/22	KNUQ FM 8:55	12:54	17:54			60	3	31.00	93.00	
10/09/22	KNUQ FM 7:55	12:20	16:35			60	3	31.00	93.00	
10/10/22	KNUQ FM 6:35	8:35	10:35	11:55	14:20	60	5	31.00	155.00	
10/10/22	KNUQ FM 15:35	18:20				60	2	31.00	62.00	
10/11/22	KNUQ FM 7:35	9:20	10:35	13:35	14:20	60	5	31.00	155.00	

Total Sales ----- 1,116.00 36 Discount on Sales 167.40-Sales Tax @ 4.1666% 39.52

PAYMENT DUE WITHIN 10 DAYS OF DATE ABOVE FOR INFO CALL YOUR SALESREP AT 808-244-9145 Sales Rep: POLITICAL

>>> Please Pay This Amount >>>

> ACCOUNTING OFFICE POST OFFICE BOX 1437 WAILUKU HAWAII 96793

Advertiser: SCHATZ FOR SENATE

INVOICE

Page 1

SCH100 To: SCREEN STRATEGIES MEDIA

Date 10/30/22 Invoice # 66272 11150 FAIRFAX BLVD

SUITE 505

FAIRFAX, VA 22030

Account/Run Detail |Len|No | Rate | Amount

_____ Contract 27601 / /EST 8461 KNUQ BSR2205H INVESTMENT 60 5 31.00 60 1 31.00 60 5 31.00 60 2 31.00 60 5 31.00 60 2 31.00 60 2 31.00 60 2 31.00 155.00 10/26/22 KNUQ FM 6:20 9:55 11:20 14:20 16:35 31.00 155.00 62.00 155.00 10/26/22 KNUQ FM 18:35 10/27/22 KNUQ FM 6:35 8:35 10:35 13:55 15:54 10/27/22 KNUQ FM 17:35 18:35 10/28/22 KNUQ FM 6:55 7:20 9:55 10:55 12:20 10/28/22 KNUQ FM 15:20 17:20 62.00 62.00 10/29/22 KNUQ FM 8:20 11:35 10/30/22 KNUQ FM 14:20 16:20 62.00 Total Sales ----- 744.00 24 Discount on Sales 111.60-26.35 Sales Tax @ 4.1666%

PAYMENT DUE WITHIN 10 DAYS OF DATE ABOVE FOR INFO CALL YOUR SALESREP AT 808-244-9145 Sales Rep: POLITICAL

>>> Please Pay This Amount >>> 658.75

ACCOUNTING OFFICE POST OFFICE BOX 1437 WAILUKU HAWAII 96793

Advertiser: SCHATZ FOR SENATE

INVOICE

SCH100 To: SCREEN STRATEGIES MEDIA

11150 FAIRFAX BLVD

SUITE 505

FAIRFAX. VA 22030

Date 11/05/22 Invoice # 66369

Page 1

DATE	FAIRFAX, VA 22030	unt/Run Detail		Len	No	Rate	Amount
	Contract 27601 / /	EST 8461 KN	INŌ	+			
10/31/22 11/01/22	BSR2205H INVESTMENT KNUQ FM 7:20 9:35 10:20 12:54 15:20 KNUQ FM 17:20 KNUQ FM 6:35 8:20 11:35 13:35 14:55 KNUQ FM 15:54 18:35			60 5 60 1 60 5 60 2		31.00 31.00 31.00 31.00	155.00 31.00 155.00 62.00
	Total Sales Discount on Sales Sales Tax @ 4.1666%			13	32100	60.45-	

PAYMENT DUE WITHIN 10 DAYS OF DATE ABOVE FOR INFO CALL YOUR SALESREP AT 808-244-9145 Sales Rep: POLITICAL

>>> Please Pay This Amount >>> 356.82

ACCOUNTING OFFICE POST OFFICE BOX 1437 WAILUKU HAWAII 96793

Advertiser: SCHATZ FOR SENATE

INVOICE

SCH100 To: SCREEN STRATEGIES MEDIA

11150 FAIRFAX BLVD

SUITE 505

FAIRFAX, VA 22030

Date 10/29/22 Invoice # 66245

Page 1

DATE		Detail	Len 1	No	Rate	Amount			
	Contract 2758	38 / /				5-5-5-5-5 -11-5-5-5-11-		*	
	BSR2205H IN	IVESTMEN	T						
10/19/22	KNUQ FM 6:35	8:35	10:55	13:35	15:54	60	5	31.00	155.00
10/19/22	KNUQ FM 17:35					60	1	31.00	31.00
10/20/22	KNUQ FM 6:55	7:55	9:20	11:20	14:20	60	5	31.00	155.00
10/20/22	KNUQ FM 15:20	18:35				60	2	31.00	62.00
10/21/22	KNUQ FM 6:20	8:20	10:55	12:35	14:55	60	5	31.00	155.00
10/21/22	KNUQ FM 16:55	18:20				60	2	31.00	62.00
10/22/22	KNUQ FM 9:55	13:55	16:55			60	3	31.00	93.00
10/23/22	KNUQ FM 7:55	11:20	17:35			60	3	31.00	93.00
10/24/22	KNUQ FM 7:55	9:20	11:20	14:55	15:54	60	5	31.00	155.00
10/24/22	KNUQ FM 18:35					60	1	31.00	31.00
10/25/22	KNUQ FM 8:35	8:55	10:55	13:20	16:20	60	5	31.00	155.00
1.0/25/22	KNUQ FM 16:35	18:35				60	2	31.00	62.00
	Total Sales -		1,209	1,209.00			39		
	Discount on Sa	les							181.35-
	Sales Tax @	4.1666%							42.82

PAYMENT DUE WITHIN 10 DAYS OF DATE ABOVE FOR INFO CALL YOUR SALESREP AT 808-244-9145 Sales Rep: POLITICAL

>>> Please Pay This Amount >>> 1,070.47

Broadcast times shown are +/- 8 minutes of actual broadcast times according to station logs.

From: PAYMENTS TO: THE KAOI RADIO GROUP

AND MAIL TO KAOI RADIO GROUP

ACCOUNTING OFFICE POST OFFICE BOX 1437 WAILUKU HAWAII 96793

Advertiser: SCHATZ FOR SENATE

INVOICE

SCH100 To: SCREEN STRATEGIES MEDIA

Date 11/08/22 11150 FAIRFAX BLVD Invoice # 66391

SUITE 505

Page 1

FAIRFAX, VA 22030					3-	_			
DATE		Accou	•			Len	No	Rate	Amount
	Contract 276			52 K	ONUQ FM	+		**********	
	BSR2205H 1	NVESTMEN	T						
11/02/22	KNUQ FM 6:35	9:55	10:55	11:20	14:55	60	5	31.00	155.00
11/02/22	KNUQ FM 15:20	17:35	18:55			60	3	31.00	93.00
11/03/22	KNUQ FM 6:35	8:55	10:20	12:35	14:55	60	5	31.00	155.00
11/03/22	KNUQ FM 15:54	16:55	18:55			60	3	31.00	93.00
11/04/22	KNUQ FM 7:55	8:55	9:55	11:20	13:20	60	5	31.00	155.00
1/04/22	KNUQ FM 16:35	18:35				60	2	31.00	62.00
11/05/22	KNUQ FM 12:20	16:55				60	2	31.00	62.00
11/06/22	KNUQ FM 8:20	17:20				60	2	31.00	62.00
11/07/22	KNUQ FM 7:55	9:20	10:20	13:20	14:55	60	5	31.00	155.00
11/07/22	KNUQ FM 15:35	18:20	18:55			60	3	31.00	93.00
11/08/22	KNUQ FM 6:20	8:35				60	2	31.00	62.00
	Total Sales		1,147	.00			37		
	Discount on S			•					172.05-
	Sales Tax @						40.62		

PAYMENT DUE WITHIN 10 DAYS OF DATE ABOVE FOR INFO CALL YOUR SALESREP AT 808-244-9145 Sales Rep: POLITICAL

>>> Please Pay This Amount >>> 1,015.57

Broadcast times shown are +/- 8 minutes of actual broadcast times according to station logs.